Subject: Re: temporary() problem
Posted by David Fanning on Tue, 24 Sep 2013 21:39:39 GMT

View Forum Message <> Reply to Message

Paul van Delst writes:

> | would go with the explanation that temporary() is "messing" with the
> top level environment because that's what the programmer wrote it to do.
>

> "Why is the computer doing what | told it to do, not what | want it to do?"

This comes later in the syllabus, when we talk about "programming
philosophy, prayer, and metaphysics." ;-)

Cheers,

David

David Fanning, Ph.D.

Fanning Software Consulting, Inc.

Coyote's Guide to IDL Programming: http://www.idlcoyote.com/
Sepore ma de ni thue. ("Perhaps thou speakest truth.")
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